
Pos. Description Part-No. Qty.

1 shiftholder Shiho-RK-T 1

2 collar DS12-6-22-T 2

3 screw M6x65-912-VA 2

-OEM Schalthebel und Ritzelabdeckung 
demontieren(2). 
-OEM Schrauben vom Lagerschild entfernen. 
 
-Dismantle OEM gear lever and sprocket cover(2). 
-Screw of OEM bolts from gear shaft cover. 
 
 
-Shiho-RK-T mit Schrauben M6x65-912 und Distanz 
12-6-22-T auf Lagerschild aufschrauben. 
Anzugsdrehmoment:10Nm 
-Bei der Montage ist darauf zu achten, daß sich die 
Schaltwelle leicht bewegen läßt(3). 
-Schalthebel befestigen. 
 
-Screw on Shiho-RK-T with bolts  
M6x65-912 and collar DS12-6-22-T onto gear shaft 
cover. 
Tightening torque: 10Nm 
-Please note that the gear shaft is free to move after 
mounting the shift holder(3). 
-Fix gear lever. 
 
 
-Ritzelabdeckung an markierter Stelle für Montage 
ausschneiden(4). 
-Ritzelabdeckung montieren. 
 
-Cut out sprocket cover onto market position for 
mounting(4). 
-Fix sprocket cover. 

Shiho-RK 
Anbauanleitung/manual 

17 2 27 22 28 13 26 29 16 15 24 23 25 34 36 31 35 33 

1 

1 
2 

3 

2 

3 

DS12-6-22-T 

M6x65-912 

4 

-Kontrollieren Sie in regelmäßigen Abständen 
den Zustand der Nadellagerung (alle 3000- 5000 
Kilometer). 
-Gegebenenfalls erneutes Einfetten der 
Getriebeausgangswelle mit Langzeitfett. 
(Fehlende Schmierung kann zum Einlaufen der 
Welle und einem Defekt der Nadellagerung 
führen) 
 
-Check frequently the condition of the needle 
bearing (every 3000- 5000 km/ 1800- 3000 miles) 
-If  necessary you have to lubricate the 
transmission output shaft with long- run 
grease. (Missing lubrication could end in a 
faulty output shaft or a destroyed needle 
bearing) 

Revision 01, Stand 09/2013


